
OUT OF FINISHED CURB

SLOPE

SLOPE

SLOPE

SKYLIGHT PLAN
SCALE :  3/4" = 1'-0"

6 D-3
6 D-4

7 D-5

4 D-1

6 D-4

OUT OF FINISHED CURB

5 D-2
3 AA

3 BB
6 D-3



WP #2

SECTION AA
SCALE :  3/4" = 1'-0"

SECTION BB
SCALE :  3/4" = 1'-0"

OUT OF FINISHED CURB

OUT OF FINISHED CURB



5/16" WEEP HOLE WITH BAFFLE
#10 x 3/4" S.S.P.H. SQUARE DRIVE,TEK SCREW 24" ON CENTER

RIGID INSULATION

#14 x 11/2" S.S.P.H. PAN HEADDRIVE 18-8 STAINLESS STEEL,TYPE A POINT (4) ON EACH RAFTER
THERMAL BREAKPVC CLOSURE

5/16" WEEP HOLE WITH BAFFLE
SANTOPRENE GLAZING GASKET 

SANTOPRENE GLAZING BLOCKSAT QUARTER POINTS

EXTRUDED ALUMINUM SNAP CAP
EXTRUDED GLAZING BAR
SANTOPRENE GLAZINGMEDIUM V GASKET
CONTINUOUS SILICONE SEALANT

WP-2

WP #2

WP #3

OUT OF CURB TO FACE OF WALL (WP#3)

DD DIMENSION (WORKING POINT #2)

SILL SECTION
SCALE: 1" = 1"4

D-1

WORKING POINT #1

STRUCTURAL ANCHORS @16"ON CENTER BY OTHERS

CONTINUOUS THERMAL BREAKNEOPRENE FLASHING TO CONTROLTHERMO MOISTURE TRANSFER.

BULB GASKETOUTSIDE CLOSER

SHIM AS REQUIRED
CONTINUOUS 3/8" x 1" FOAM GASKET

CONTINUOUS MEMBRANE FLASHINGUNDER 0.032 ALUMINUM FLASHING

0.032 ALUMINUM FLASHING,SPLICE LOCATION WILL HAVE 6"OVERLAP. SET IN SILICONE

MIN
IMU

M O
F 6

" FR
OM

THE
 BO

TTO
M O

F T
HE 

SIL
L TO

THE
 FIN

ISH
 GR

AD
E

#10 x 3/4" S.S.P.H. SQUARE DRIVE,TEK SCREW @ C/L RAFTER LOCATIONS

OPEN FOR GLAZING MATERIAL



WP #1

WP #4

WORKING POINT #1 SANTOPRENE MEDIUM V GASKET
EXTRUDED ALUMINUM SNAP CAP
EXTRUDED ALUMINUM GLAZING CAP

BACKER ROD AND STRUCTURAL BUTT GLAZE
GLAZING SUPPORT BAR @ QUARTER POINTS

CONT. COMPOSITE BLOCKS

2" EXTRUDED ALUM. PURLIN
EXTRUDED ALUMINUM 2" RAFTER

(1) #14 x 1 1/2" S.S.H.H. TYPE A SCREW,@ C/L RAFTER/PURLIN INTERSECTIONHEAD SECTION 1
SCALE: 1" = 1"5

D-2 BOTTOM OF BEAM TO
OUT OF CURB

CONTINUOUS SILICONE SEALANT 

3/16" REGLET CUT INTOMASONRY BY OTHERS

FULLY WELDED

ALUMINUM PLATEWELDED TO RAFTER
STRUCTURAL FASTENER PROVIDED BY OTHERS.FIELD INSTALLED
1" THK. RIGIDINSULATION BOARDFIELD INSTALLED

3/16"x11/4" TAP CONW/ WEATHER WASHER@ 16" ON CENTERFIELD INSTALLED
#10 x 2" S.S.F.H.SCREW, 16" ON CENTER

.032 FORMED BRONZEALUMINUM FLASHING. SET INSILICONE BACK WITH CONT.FLEX MEMBRANE

SANTOPRENE GLAZING GLASKET
OPEN FOR 1 316" GLASS.GLASS BY ARCADIA.

SANTOPRENE GLAZINGBLOCKS AT QUARTER POINTS

418.43°
12

.032 FORMED BRONZE ALUM.SET IN SILICONE. FLASHING JOINTS WILL BE
@ CENTERLINE OF RAFTER. FIELD INSTALLED

@ RAFTER LOCATION



GO27 EXTRUDED ALUMINUM SNAP CAP
GO23 EXTRUDED ALUMINUM GLAZING BAR
GG09 SANTOPRENE MEDIUM V GASKET 

0.032 BRONZE ALUMINUM FLASHING

#10 x 1 1/2" S.S.F.H. SCREW,16" ON CENTER

SANTOPRENE GLAZINGBLOCKS AT QUARTER POINTS
G050 2" EXTRUDED ALUMINUM RAFTER

1 1/2" x 1 1/2" WOL.CONTINUOUSWOOD BLOCKS

SECTION @ WALL SIDE
SCALE: 1" = 1"6

D-3

OPEN FOR 1 316" GLASS.GLASS BY ARCADIA.

SHIM AS REQUIRED

GG12 SANTOPRENE GLAZING GASKET 

3/16" REGLET CUTINTO MASONRYBY OTHERS.

#14 x 2" S.S.H.H. HEX HEAD DRIVE18-8 STAINLESS STEEL, THREAD ROLLINGTYPE B POINT 9" ON CENTER

SILICONE SEALANTW/ 5/8" BACKER RODTO BE INSTALLEDBEFORE GLAZINGAND FLASHING- BY OTHERS

OUT TO OUT FINISHED OF SKYLIGHT

FINISHED OPENING

CONTINUOUS SILICONE SEALANT



GO27 EXTRUDED ALUMINUM SNAP CAP
GO23 EXTRUDED ALUMINUM GLAZING BAR
GG09 SANTOPRENE MEDIUM V GASKET 

#10 x 1 1/2" S.S.F.H. SCREW,16" ON CENTER

SANTOPRENE GLAZINGBLOCKS AT QUARTER POINTS
G050 2" EXTRUDED ALUMINUM RAFTER

RAFTER SECTION
SCALE: 1" = 1"6

D-4

GG12 SANTOPRENE GLAZING GASKET 34" x 11/4" WOOD BLOCKS@ QUARTER POINTS

#14 x 2" S.S.H.H. HEX HEAD DRIVE18-8 STAINLESS STEEL, THREAD ROLLINGTYPE B POINT 9" ON CENTER



WP #1

WP #4

WORKING POINT #1
GG09 SANTOPRENE MEDIUM V GASKET
G027 EXTRUDED ALUMINUM SNAP CAP
G023 EXTRUDED ALUMINUM GLAZING CAP

BACKER ROD AND STRUCTURAL BUTT GLAZE
GLAZING SUPPORT BAR @ QUARTER POINTS

CONT. COMPOSITE BLOCKS

G010 2" EXTRUDED ALUM. PURLIN
G050 EXTRUDED ALUMINUM 2" RAFTER

(1) #14 x 1 1/2" S.S.H.H. TYPE A SCREW,
@ C/L RAFTER/PURLIN INTERSECTION

BOTTOM OF BEAM TO
OUT OF CURB

CONTINUOUS SILICONE SEALANT 

3/16" REGLET CUT INTO
MASONRY BY OTHERS

FULLY WELDED

ALUMINUM PLATE
WELDED TO RAFTER
STRUCTURAL FASTENER TO BE
PROVIDED OTHERS.
FIELD INSTALLED
1" THK. RIGID
INSULATION BOARD
FIELD INSTALLED

3/16"x11/4" TAP CON
W/ WEATHER WASHER
@ 16" ON CENTER
FIELD INSTALLED
#10 x 2" S.S.F.H.
SCREW, 16" ON CENTER

.032 FORMED BRONZE
ALUMINUM FLASHING. SET IN
SILICONE BACK WITH CONT.
FLEX MEMBRANE

GG12 SANTOPRENE GLAZING GLASKET
OPEN FOR GLAZING MATERIAL.

SANTOPRENE GLAZING
BLOCKS AT QUARTER POINTS

4
18.43°
12

.032 FORMED BRONZE ALUM.
FLASHING JOINTS WILL BE @ CENTERLINE OF RAFTER.
FIELD INSTALLED

HEAD SECTION 1
SCALE: 1" = 1"

7 D-5
@ RAFTER LOCATION


	1
	2
	3
	4
	5
	6
	7

